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1. If ∠𝐴 > ∠𝐵 in ∆𝐴𝐵𝐶, then which of the following statements must be true? 

 A. ∠𝐴 < ∠𝐶  C. 𝐵𝐶̅̅ ̅̅ > 𝐴𝐶̅̅ ̅̅  

B. ∠𝐵 > ∠𝐶  D. 𝐵𝐶̅̅ ̅̅ > 𝐴𝐵̅̅ ̅̅  

 

 

2. 

 
If a triangle has two sides with lengths of 3.25 𝑚 and 7.2 𝑚.  Which lengths below could 

represent the length of the third side?  Select all that apply. 

 F. 11.1 𝑚 J. 3.95 𝑚 

G. 4.91 𝑚 K. 1.00 𝑚 

 H. 3.00 𝑚 L. 6.92 𝑚 

 I. 10.45 𝑚 M. 5.00 𝑚 

 

3. Given quadrilateral 𝐸𝐹𝐺𝐻 below, what is ∠𝐻 ? 

   

 

 A. 𝑚∠𝐻 = 32.2° 

B. 𝑚∠𝐻 = 67.4° 

 C. 𝑚∠𝐻 = 75.4° 

 D. 𝑚∠𝐻 = 95.4° 

   

 

 

 

 

 

 

 

4. Use the diagram below to find 𝑊𝑂. 

   

 

 A. 𝑊𝑂 = 14 

B. 𝑊𝑂 = 23 

C. 𝑊𝑂 = 26 

D. 𝑊𝑂 = 50 
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5. What is the measure of 𝐻𝐽 in Parallelogram 𝐹𝐺𝐻𝐽, given the following: 

• 𝐹𝐺 = 𝑥 + 7 

• 𝐺𝐻 = 5𝑥 + 3 

• 𝑚∠𝐹 = 46° 

• 𝑚∠𝐻 = (3𝑥 + 10)° 

 A. 𝐻𝐽 = 63 

 

B. 𝐻𝐽 = 19 

C. 𝐻𝐽 = 12 

D. 𝐻𝐽 = 8 

 

 

6. Given the following information, find 𝑚∠𝑋𝑌𝑍: 

 

• WXYZ is a rhombus 

• 𝑚∠𝑊𝑋𝑃 = (2𝑥 + 16)° 

• 𝑚∠𝑊𝑃𝑋 = (7𝑥 + 6)° 

 

 
A. 𝑚∠𝑋𝑌𝑍 = 100° C. 𝑚∠𝑋𝑌𝑍 = 140° 

B. 𝑚∠𝑋𝑌𝑍 = 120° D. 𝑚∠𝑋𝑌𝑍 = 160° 

 
    

 

7. In the diagram below, ∆𝑇𝑈𝑉~∆𝑋𝑌𝑍 determine which statements below are true.   

Select all that apply. 

 F. 𝑚∠𝑉 = 𝑚∠𝑍 

 

G. 𝑚∠𝑉 > 𝑚∠𝑍 

H. 𝑇𝑉 = 2 ∙ 𝑌𝑍 

I. 𝑇𝑉 = 3 ∙ 𝑌𝑍 

J. 
𝑇𝑈

𝑋𝑌
=

𝑋𝑌

𝑌𝑍
 

 
K. 

𝑇𝑈

𝑈𝑉
=

𝑋𝑌

𝑌𝑍
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8. Find the length of 𝑃𝑆̅̅̅̅  in the diagram below. 

 A. 𝑃𝑆 = 5 

 

B. 𝑃𝑆 = 6 

C. 𝑃𝑆 = 8 

D. 𝑃𝑆 = 18 

  

9. What is the length of 𝐴𝐶̅̅ ̅̅  ? 

 

 A. 𝐴𝐶 = 28 

B. 𝐴𝐶 = 26 

C. 𝐴𝐶 = 24 

D. 𝐴𝐶 = 15 

 

10. 

 

What is the value of x in the figure below? 

 A. 𝑥 = 4 

 

B. 𝑥 = 5 

C. 𝑥 = 6 

D. 𝑥 = 7 

 
 
 
 
 

11. A carpenter is assembling triangular support structures for a deck.  The supports need to 

include a perfect right angle in order to be structurally safe.  If the side lengths are 2.75 

feet, 15 feet, and 15.25 feet, do the structures meet the safety requirements? 

 
 

A. Yes, the side lengths form a right triangle because 2.752 + 152 = 15.252. 

 

B. No, the side lengths form an acute triangle because 2.752 + 152 > 15.252. 

C. No, the side lengths form an acute triangle because 2.752 + 152 < 15.252. 

D. No, the side lengths form an obtuse triangle because 2.752 + 152 > 15.252. 
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12. Find the values of x and y. 

 
A. 𝑥 = 4, 𝑦 = 4√3 

 

B. 𝑥 = 8√3, 𝑦 = 16√3 

C. 𝑥 =
16√3

3
, 𝑦 =

8√3

3
 

D. 𝑥 =
8√3

3
, 𝑦 =

16√3

3
 

 

13. Given that 𝑠𝑖𝑛 𝑀 =
5

13
 , What is the tan 𝑀 ? 

 A. 
5

12
                         

 

B. 
12

13
 

C. 
12

5
 

D. 
13

5
 

  

 

14. A 12 foot ladder is leaning up against the side of a house.  The ladder is placed 10 feet 

from the side of the house.  What is the angle of elevation of the ladder? 

 A. 33.6° C. 50.2° 

B. 39.8° D. 56.4° 

 

15. What is the approximate circumference of circle M? 

   

 

 A. 78.5 𝑐𝑚 

B. 62.8 𝑐𝑚 

C. 44.4 𝑐𝑚 

D. 31.4 𝑐𝑚 
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16. The circle below is divided into 9 equal sections.  The diameter of the circle is 54 𝑚𝑚 .  

What is the arc length of ?   

   

 

 A. 6𝜋 𝑚𝑚 

B. 12𝜋 𝑚𝑚 

C. 24𝜋 𝑚𝑚 

D. 42𝜋 𝑚𝑚 

  

17. What is the value of 𝑥 to the nearest tenth? 

   

 

 A. 𝑥 = 15 

B. 𝑥 = 18 

C. 𝑥 = 21 

D. 𝑥 = 39 
  

 
 

 

18. Given  and ∠𝐴𝐷𝐵 is a central angle, what is the value of 𝑥 and  ? 

   
 

 

 F. 𝑥 = 25.2 

G. 𝑥 = 8.4 

H. 𝑥 = 14.0 

I.  = 166° 

J.  = 152° 

K.  = 124° 
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19. A road runs tangent to a circular lake.  The distance from point B to the center of the lake 

is 100 miles.  The distance from Point A to Point B on the road is 80 miles.  What is the 

diameter of the lake? 

   

 

A. 20 miles 

B. 60 miles 

C. 120 miles 

D. 160 miles 

  

20. What is the area of the trapezoid? 

   
 

 

 A. 136 𝑖𝑛2 

B. 168 𝑖𝑛2 

C. 84√3 𝑖𝑛2 

D. 100√3 𝑖𝑛2 

   

21. The sector of a circle has an intercepted arc that is 30°.  The area of the sector is 8𝜋 𝑖𝑛2.    

What is the area of the entire circle? 

 A. 2304𝜋 𝑖𝑛2 C. 96𝜋 𝑖𝑛2 

B. 240𝜋 𝑖𝑛2 D. 64𝜋 𝑖𝑛2 

 

22. What is the volume of the figure below?  

   

 
 

 

  
A. 816 𝑓𝑡3 

B. 720 𝑓𝑡3 

C. 272 𝑓𝑡3 

D. 240 𝑓𝑡3 

  

23. What is the radius of a sphere whose volume is  330 cubic meters ? 

 A. 4.29 𝑚 C. 78.8 𝑚 

B. 8.9 𝑚 D. 37.4 𝑚 
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1)  C 2)  G, L, M 3)  C 4)  A 5)  B 6)  A 7)  F, K 8)  B 9)  C 
10)  A 11)  A  12)  D  13)  A  14)  A  15)  D 
16)  B 17)  C  18)  F, K 19)  C  20)  C  21)  C 
22)  B 23)  A 

 
 
 
 
 


